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Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE
TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. If the information printed on your answer sheet is not correct, please
inform the invigilator immediately.

4. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next to
each answer box. No mark will be given if you failed to follow this
instruction.

5. Unless otherwise specified, all answers must be in exact value and in
its simplest form. Writing the units for the answers is NOT necessary.

6. Rough-work sheets provided will be collected at the end of the contest
but they will not be marked.

7. Diagrams in this question booklet are not necessarily drawn to scale.
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) 3x8=9? [1%]
2) TX6=2? [1%]
3) 36+4=9 [1%]
4) 56+ 8=79 [1%]
5) 35-18=2 [1%]
6) 164+78=2 [1%]
7)  273-145=2 [1%]
8) 446 +267 =2 [1%]
9) 521-283=2 [1%]
10) 3X2x7=2? [1%]
11) 40+5+2=2 [1%]
12) 6X9-8=7 [1%]
13) 32+8+2=2 [1%]
14) 7X8+67=27 [1%]
15) 72+9-6=2 [1%]
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16) Find the product of the units digit of 2476 and the [2%]

hundreds digit of 5918.

2476 HYEALENF3RIA 5918 I B EIFE =

7

17) 2 hours 35 minutes = __?  minutes

2 DEF3S piE = 2 riE

[2.1%]
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18) Tcanuse __?  sticks and 10 plasticine balls to make a [2.2%]
pentagonal prism.

BATLA 2 FHEM 10 RBREE—(ERMA
HEE.

19) Judy bought a pencil case at 36 dollars and 40 cents, [2.3%]
which was 18 dollars and 80 cents cheaper than the
original price. What was the original price of the pencil
case?

INEH36T4RET—EESE, ILREFEET 18T
8F, MEENRERZVTEZVAE?
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20) The pictogram below shows the number of different kinds [2.4%]
of fruits in a shop.

TEBRTTKRIENARKRAIENE.

'O

K Each picture represents 1 fruit

BERFE

‘—I-I-I-l-l-l-l-l-l-l-.
..-I-I-I-l-l-l-l-l-l-‘

The total number of oranges and mangoes is___?  more
than the number of apples.

BRMTRAESLLERS 2 {E.




MathConceptition 2021

21) How many prisms are there in the figure below? [2.5%]
TEXEZ MERE?
B & S E e Rl ks -,

‘-l-l-l-l-l-l-l-l-l-..
. L 2
~ .

..-l-l-l-l-I-l-l-l-l-'

22) The weight of a melon is 3 kilograms. A watermelon is 95 [2.6%]
grams heavier than the melon. What is the weight of the
watermelon in grams?

—EZRE 3 ~F, ARLEERE 95 %2, BMiE@EA
REZDR?
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23)  Form two 3-digit numbers by using the digits below. Each  [2.7%)]
digit can be used at most once. What is the largest
difference between the two numbers?

FIALTEFAER 2 E=028, BFATEHR, EM
HERKEZD?

4,8,7,0,3,5

24) If all the faces of a pyramid have the same shape, it must [2.8%]
bea ? pyramid.

MR —E#HENMAEENTIAGER, EVER—
B _? 8.

25) Peter and James are standing face to face. If the north is [2.9%]
on the left of James, then Peter 1s facing the _ ?

NRF/DREH mEE . WRDENEEIS

AREE/NBRIETER _ 2 7.




MathConceptition 2021

26) How many right angles are there in the figure below? [3%]
TEXEZMMEER"?
27) In the figure, if the pig is 1 metre long, how long is the [3.1%]

camel in cm approximately?

TEH ., RNER 1K, BEBERARS DEX?

‘s

—l--I--I--I--I--I--I--I--I.~
..-I-I-I-I-I-I-I--‘
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28) How many hours and how many minutes have passed? [3.2%]

BT N EEY

Start time End time
B 4R B [ #& o B ]

W S N NNy,
L L L I T T T e

29) The lengths of two ribbons are 3 m 24 cm and 4 m 6 cm [3.3%]
respectively. If they are glued together and the overlapping
part is 152 cm long, how long is the glued ribbon in cm?

O BIR 3 K 24 [EXKF 4 K 6 [EXRI44ERNE
EZFoR 152 EX, AIETEZNGERS DEX?
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30) Peter planned to use 60 days to finish reading a story [3.4%]
book. He started reading it on 24" March and finished it
on 5™ June. How many more days did he actually use

than what he expected?

/INBAETEIH 60 REX—ANESE. thlh 3 A 24 BE
b& RE 58 E§6ﬁ551mm ﬁﬁﬁﬁmmmﬁﬁw
BEENZTE DX

31) Find the missing number in the pattern. [4%0]

RIFARE, IRHBR EHEF.

4,7,11, 2 29,47,

32) Cindy bought 3 pens and 2 notebooks with $25. If each pen [4.1%]
costs $4, how much does each notebook cost?

N8R 25 TRT 3 THER 2 KHLH. DAGLH
847, MEXEEEESOT
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33) There are 3 pairs of yellow socks, 4 pairs of blue socks, 5 [4.2%]
pairs of white socks and 6 pairs of black socks in a drawer.
Two socks are randomly drawn from the drawer each time
without replacement. At least how many times are needed
to be drawn so that there must be two socks of the same
colour?

MmENE 3ERE. 4 BER. SEAEM X
. SRhREEEEL 2 €87, BHEARE,
BEVERZDRATHERE 2EHRBARNET?

34) David will eat at least 1 but at most 3 candies each day. He [4.3%]
will not eat the same number of candies in any two
consecutive days. If David eats 1 candy on the first day, at
most how many candies will he eat in 10 days?

INBEXRBVENE | K. RF 3 AMER, MARBE
EMAEIZEREE. ME/NPE 10 RNPE—XKIZ
T 1RHER, 7E 10 RN\ ZHIZT Z/DRHER?

P10
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35) There are 60 people sitting around a circular garden. [4.4%]
When Bobby counts towards his left starting from himself,
Jenny is in the 20™ place. When Bobby counts towards
his right starting from himself, what place is Jenny in?

B 60 ANEE—(EEEEMMA. /NAHE SR
[ ZZ 805 20 B2 /ME. AVENE /RS B S ERIRE
CAHELEGENME?

36) 2 apples and 3 oranges cost 29 dollars. 5 apples and [4.5%]
4 oranges cost 48 dollars. How much do 2 apples and 1
orange cost?

2 [EERM 3 EAEELE 29 jT. 5 EERM 4 & 75 £
48 T, B2 EERM | AREEES DT

37) ABC is a 3-digit odd number. Given that the sum of A, B, [4.6%]
and C is 10. How many possible numbers are there for the
3-digit number ABC?

ABC B—E={rE%. MEA. B. CZF1E 10, [
EE={AE ABC EZ/MERTEE(E?

P11
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38) How many dots are there in the 12th figure below? [4.7%]

THF 12 ABEXENEREF S D

BT & o et ¢ R .

" ° ° ‘-l
; [ ] [ ] ® o [ N J |
! [ ] [ ] e o o o [ N BN J [ 2 BN J :
: e 06 o e 6 6 0O ® 6 06 06 06 00O !
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:‘ 15t ond 3rd "
\‘. ”I

39) How many triangles are there in the figure below? [4.8%]

TERIXEZME=FH"?

P12
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40) Find the value of 121 + 221 + 321 + ... + 2021. [4.9%]

kK 121 +221 +321 + ... +2021 B94&.

End of paper
£E5T

P13
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